Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date :17 Feb 2022

URL: http://sndt.digitaluniversity.ac/

Result Ledger For

Faculty : Faculty of Science and Technology

Program : Bachelor of Physiotherapy

Program Code : 061
Mode of Learning : Regular
Pattern : Revised 2014
Branch : No Branch

Program Part : Bachelor of Physiotherapy

Program Part Term : Semester VII Event : January 2022

#### Course Level Details:-

Course	Course Name	Credits	Grade Template Name	AM	IN	NT	E	XT	Course Max Marks
Code					Min	Max	Min	Max	1
7001	Physiotherapy in Women's Health and Geriatrics(TH)	2.00	10 Point Grading	TH	20	40	30	60	100
7002	Physiotherapy in Women's Health and Geriatrics (PR)	3.00	10 Point Grading	PV	20	40	30	60	100
7003	Physiotherapy in Medical and Surgical Conditions (TH)	2.00	10 Point Grading	TH	20	40	30	60	100
7004	Physiotherapy in Medical and Surgical Conditions (PR)	3.00	10 Point Grading	PV	20	40	30	60	100
7005	Sports Physiotherapy (TH)	2.00	10 Point Grading	TH	20	40	30	60	100
7006	Sports Physiotherapy (PR)	3.00	10 Point Grading	PV	20	40	30	60	100

PRINCIPAL DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date :17 Feb 2022

#### **Grade Template Used: :-**

Template Name : Grade\_10\_50\_new Grade Scale : 10 Point Grading

No. Of Intervals: 42

Sr. No.	Grade Abbreviation	From (Marks)	To (Marks)	Status	GradePoint	Description
1	O+	90	100	Pass	10.00	O+
2	О	89	89.99	Pass	9.90	0
3	О	88	88.99	Pass	9.80	0
4	О	87	87.99	Pass	9.70	0
5	О	86	86.99	Pass	9.60	0
6	О	85	85.99	Pass	9.50	0
7	О	84	84.99	Pass	9.40	0
8	О	83	83.99	Pass	9.30	0
9	О	82	82.99	Pass	9.20	0
10	О	81	81.99	Pass	9.10	0
11	О	80	80.99	Pass	9.00	0
12	A+	79	79.99	Pass	8.90	A+
13	A+	78	78.99	Pass	8.80	A+
14	A+	77	77.99	Pass	8.70	A+
15	A+	76	76.99	Pass	8.60	A+
16	A+	75	75.99	Pass	8.50	A+
17	A+	74	74.99	Pass	8.40	A+
18	A+	73	73.99	Pass	8.30	A+
19	A+	72	72.99	Pass	8.20	A+
20	A+	71	71.99	Pass	8.10	A+
21	A+	70	70.99	Pass	8.00	A+
22	A	69	69.99	Pass	7.90	A
23	A	68	68.99	Pass	7.80	A
24	A	67	67.99	Pass	7.70	A
25	A	66	66.99	Pass	7.60	A
26	A	65	65.99	Pass	7.50	A
27	A	64	64.99	Pass	7.40	A
28	A	63	63.99	Pass	7.30	A
29	A	62	62.99	Pass	7.20	A
30	A	61	61.99	Pass	7.10	A
31	A	60	60.99	Pass	7.00	A
32	B+	59	59.99	Pass	6.80	B+
33	B+	58	58.99	Pass	6.60	B+
34	B+	57	57.99	Pass	6.40	B+
35	B+	56	56.99	Pass	6.20	B+
36	B+	55	55.99	Pass	6.00	B+
37	В	54	54.99	Pass	5.80	В
38	В	53	53.99	Pass	5.60	В
39	В	52	52.99	Pass	5.40	В
40	В	51	51.99	Pass	5.20	В
41	В	50	50.99	Pass	5.00	В
42	F	0	49.99	Fail	0.00	F

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

# **GPA TEMPLATE:**

Template Name : GPA\_10\_50\_new
Grade Scale : 10 Point Grading

No. Of Intervals: 7

Sr. No.	Grade Abbreviation	From (GPA)	To (GPA)	Status	Description
1	O+	10	10	Pass	O+
2	О	9	9.99	Pass	0
3	A+	8	8.99	Pass	A+
4	A	7	7.99	Pass	A
5	B+	6	6.99	Pass	B+
6	В	5	5.99	Pass	В
7	F	0	4.99	Fail	F

PRINCIPAL

DIRECTOR,

Board of Examination and Evaluation

Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date :17 Feb 2022

#### **Abbreviations Used:**

EXT	External Assessment
INT	Internal Assessment
EX	External
IN	Internal
PR	Practical
PV	Practical/Viva
TH	Theory
TW	Term Work
Cr	Credits
AM	Assessment Method
Gr	Grade Obtained
SGPA	Semester Grade Point Average
CGPA	Cumulative Grade Point Average
EGP	Earned Grade Points
С	Current Performance
NP	Not Permitted
UMC	Unfair Means Case
FF	Fail
RR	Result Reserved
+	Grace applied
AB	Absent
ATKT	Allowed to keep Terms
RMK	Remark
х	Past Performance
App	Appearance
Obt	Obtained

PRINCIPAL DIRECTOR,

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: ADWANI CHHAYA KHEMCHAND PAYAL

Seat No: 070001

Center: 014

PRN: 2018016100105363

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

<b>Course Code</b>	Course Name	AM	IN	T	EX	T	Tota	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	36	30/60	50	100	86		86/100	2	O	9.60	19.20	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	37	30/60	48	100	85		85/100	3	O	9.50	28.50	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	33	30/60	46	100	79		79/100	2	A+	8.90	17.80	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	35	30/60	51	100	86		86/100	3	О	9.60	28.80	c
7005	Sports Physiotherapy (TH)	TH	20/40	31	30/60	46	100	77		77/100	2	A+	8.70	17.40	c
7006	Sports Physiotherapy (PR)	PV	20/40	33	30/60	54	100	87		87/100	3	O	9.70	29.10	c
Sem VII	Total Credits: 15	Total F	EGP: 140.80		SGPA:	9.39		Grade: O		Gra	nd Total: 5	00/600	Percen	tage: 83.33	

Name: BAKRE AMRUTA MANISH MANISHA

Seat No: 070002

Center: 014

PRN: 2018016100105371

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	ХТ	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	48	100	82		82/100	2	О	9.20	18.40	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	35	30/60	50	100	85		85/100	3	О	9.50	28.50	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	33	30/60	50	100	83		83/100	2	О	9.30	18.60	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	36	30/60	47	100	83		83/100	3	О	9.30	27.90	c
7005	Sports Physiotherapy (TH)	TH	20/40	33	30/60	52	100	85		85/100	2	O	9.50	19.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	35	30/60	51	100	86		86/100	3	O	9.60	28.80	с
Sem VII	Total Credits: 15	Total I	EGP: 141.20		SGPA:	9.41		Grade: O		Gra	and Total: 5	604/600	Percer	ntage: 84.00	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: BALAR AEKTABEN LAKSHAMANBHAI NEETABEN

Seat No: 070003

Center: 014

PRN: 2018016100105386

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	(T	Tota	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	33	30/60	44	100	77		77/100	2	A+	8.70	17.40	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	31	30/60	43	100	74		74/100	3	A+	8.40	25.20	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	32	30/60	52	100	84		84/100	2	O	9.40	18.80	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	30	30/60	44	100	74		74/100	3	A+	8.40	25.20	c
7005	Sports Physiotherapy (TH)	TH	20/40	30	30/60	36	100	66		66/100	2	A	7.60	15.20	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	46	100	77		77/100	3	A+	8.70	26.10	c
Sem VII	<b>Total Credits: 15</b>	Total I	EGP: 127.90		SGPA:	8.53		Grade: A+	-	Gra	nd Total: 4	52/600	Percen	tage: 75.33	

Name: BAMBHANIYA DHARABEN BHIMBHAI JAYABEN

Seat No: 070004

Center: 014

PRN: 2018016100105394

Medium : English

College: 058: Shree Swaminarayan Physiotherapy College, Kadodara, Surat

Course Code	Course Name	AM	IN	Т	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	33	30/60	48	100	81		81/100	2	0	9.10	18.20	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	33	30/60	48	100	81		81/100	3	О	9.10	27.30	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	32	30/60	48	100	80		80/100	2	O	9.00	18.00	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	45	100	77		77/100	3	A+	8.70	26.10	c
7005	Sports Physiotherapy (TH)	TH	20/40	32	30/60	44	100	76		76/100	2	A+	8.60	17.20	c
7006	Sports Physiotherapy (PR)	PV	20/40	32	30/60	48	100	80		80/100	3	O	9.00	27.00	c
Sem VII	<b>Total Credits: 15</b>	Total F	EGP: 133.80		SGPA:	8.92		Grade: A+	-	Gra	nd Total: 4	75/600	Percen	tage: 79.17	

PRINCIPAL

DIRECTOR, Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: CHITALIYA SNEHA RAVINDRABHAI ASMITA

Seat No: 070005

Center: 014

PRN: 2018016100105405

**Medium: English** 

College: 058: Shree Swaminarayan Physiotherapy College, Kadodara, Surat

Course Code	Course Name	AM	IN	T	EX	T	Tota	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	31	30/60	40	100	71		71/100	2	A+	8.10	16.20	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	31	30/60	41	100	72		72/100	3	A+	8.20	24.60	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	33	30/60	50	100	83		83/100	2	O	9.30	18.60	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	35	30/60	42	100	77		77/100	3	A+	8.70	26.10	c
7005	Sports Physiotherapy (TH)	TH	20/40	31	30/60	46	100	77		77/100	2	A+	8.70	17.40	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	48	100	79		79/100	3	A+	8.90	26.70	c
Sem VII	Total Credits: 15	Total I	EGP: 129.60		SGPA:	8.64		Grade: A+		Gra	nd Total: 4	59/600	Percen	tage: 76.50	

Name: CHOURASIYA MANISHA RADHESHAM USHA

Seat No: 070006

Center: 014

PRN: 2018016100105413

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	<b>T</b>	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	31	30/60	48	100	79		79/100	2	A+	8.90	17.80	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	31	30/60	41	100	72		72/100	3	A+	8.20	24.60	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	32	30/60	50	100	82		82/100	2	О	9.20	18.40	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	31	30/60	41	100	72		72/100	3	A+	8.20	24.60	c
7005	Sports Physiotherapy (TH)	TH	20/40	33	30/60	48	100	81		81/100	2	O	9.10	18.20	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	43	100	74		74/100	3	A+	8.40	25.20	c
Sem VII	Total Credits: 15	Total I	EGP: 128.80		SGPA:	8.59		Grade: A	+	Gra	nd Total: 4	60/600	Percen	tage: 76.67	

PRINCIPAL

DIRECTOR, Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: CHOVATIYA SHIVANI YOGESHBHAI DAYABEN

Seat No: 070007

Center: 014

PRN: 2018016100105421

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	XT	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	30	30/60	46	100	76		76/100	2	A+	8.60	17.20	с
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	29	30/60	43	100	72		72/100	3	A+	8.20	24.60	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	28	30/60	48	100	76		76/100	2	A+	8.60	17.20	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	30	30/60	41	100	71		71/100	3	A+	8.10	24.30	c
7005	Sports Physiotherapy (TH)	TH	20/40	30	30/60	44	100	74		74/100	2	A+	8.40	16.80	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	40	100	71		71/100	3	A+	8.10	24.30	c

SGPA: 8.29

Name: DARJI RAVINABEN DHARMENDRA REKHA

Sem VII

Seat No: 070008

**Total EGP: 124.40** 

Center: 014

Grade: A+

PRN: 2018016100105436

**Grand Total: 440/600** 

Medium : English

Percentage: 73.33

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

**Total Credits: 15** 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	32	30/60	48	100	80		80/100	2	О	9.00	18.00	с
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	30	30/60	45	100	75		75/100	3	A+	8.50	25.50	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	28	30/60	48	100	76		76/100	2	A+	8.60	17.20	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	30	30/60	39	100	69		69/100	3	A	7.90	23.70	c
7005	Sports Physiotherapy (TH)	TH	20/40	30	30/60	38	100	68		68/100	2	A	7.80	15.60	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	41	100	72		72/100	3	A+	8.20	24.60	c
Sem VII	Total Credits: 15	Total I	EGP: 124.60		SGPA:	8.31		Grade: A+	-	Gra	nd Total: 4	40/600	Percen	tage: 73.33	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: DESAI JUHI HITENDRASINH TARULATABEN

Seat No: 070009

Center: 014

PRN: 2018016100105444

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	30	30/60	42	100	72		72/100	2	A+	8.20	16.40	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	30	30/60	42	100	72		72/100	3	A+	8.20	24.60	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	27	30/60	46	100	73		73/100	2	A+	8.30	16.60	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	30	30/60	40	100	70		70/100	3	A+	8.00	24.00	c
7005	Sports Physiotherapy (TH)	TH	20/40	30	30/60	44	100	74		74/100	2	A+	8.40	16.80	c
7006	Sports Physiotherapy (PR)	PV	20/40	30	30/60	44	100	74		74/100	3	A+	8.40	25.20	c
Sem VII	Total Credits: 15	Total I	EGP: 123.60	)	SGPA:	8.24		Grade: A	+	Gra	nd Total: 4	35/600	Percen	ntage: 72.50	

Name: DHANANI DHRUVIBEN VINODBHAI SUMITABEN

Seat No: 070010

Center: 014

PRN: 2018016100104305

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	32	30/60	50	100	82		82/100	2	О	9.20	18.40	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	27	30/60	44	100	71		71/100	3	A+	8.10	24.30	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	33	30/60	48	100	81		81/100	2	О	9.10	18.20	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	41	100	73		73/100	3	A+	8.30	24.90	c
7005	Sports Physiotherapy (TH)	TH	20/40	33	30/60	44	100	77		77/100	2	A+	8.70	17.40	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	43	100	74		74/100	3	A+	8.40	25.20	c
Sem VII	Total Credits: 15	Total I	EGP: 128.40		SGPA:	8.56		Grade: A	+	Gra	nd Total: 4	58/600	Percen	tage: 76.33	

PRINCIPAL

DIRECTOR, Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: GAMI AKSHU RAMESHCHANDRA JASODABEN

Seat No: 070011

Center: 014

PRN: 2018016100104313

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tota	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	44	100	78		78/100	2	A+	8.80	17.60	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	32	30/60	45	100	77		77/100	3	A+	8.70	26.10	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	30	30/60	50	100	80		80/100	2	О	9.00	18.00	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	42	100	74		74/100	3	A+	8.40	25.20	c
7005	Sports Physiotherapy (TH)	TH	20/40	32	30/60	46	100	78		78/100	2	A+	8.80	17.60	c
7006	Sports Physiotherapy (PR)	PV	20/40	32	30/60	44	100	76		76/100	3	A+	8.60	25.80	c
Sem VII	Total Credits: 15	Total I	EGP: 130.30		SGPA:	8.69		Grade: A+		Gra	nd Total: 4	63/600	Percen	tage: 77.17	

Name: GUPTA SEJAL SUNIL LAXMI

Seat No: 070012

Center: 014

PRN: 2018016100104321

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	33	30/60	56	100	89		89/100	2	О	9.90	19.80	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	35	30/60	46	100	81		81/100	3	О	9.10	27.30	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	31	30/60	58	100	89		89/100	2	О	9.90	19.80	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	34	30/60	43	100	77		77/100	3	A+	8.70	26.10	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	54	100	88		88/100	2	O	9.80	19.60	c
7006	Sports Physiotherapy (PR)	PV	20/40	33	30/60	53	100	86		86/100	3	O	9.60	28.80	c
Sem VII	Total Credits: 15	Total I	EGP: 141.40	1	SGPA:	9.43		Grade: O	•	Gra	nd Total: 5	10/600	Percen	tage: 85.00	

PRINCIPAL

DIRECTOR, Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: JANI MANSI PANKAJKUMAR VARSHA

Seat No: 070013

Center: 014

PRN: 2018016100104336

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tota	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	31	30/60	46	100	77		77/100	2	A+	8.70	17.40	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	33	30/60	47	100	80		80/100	3	O	9.00	27.00	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	29	30/60	44	100	73		73/100	2	A+	8.30	16.60	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	33	30/60	42	100	75		75/100	3	A+	8.50	25.50	c
7005	Sports Physiotherapy (TH)	TH	20/40	31	30/60	44	100	75		75/100	2	A+	8.50	17.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	33	30/60	46	100	79		79/100	3	A+	8.90	26.70	c
Sem VII	Total Credits: 15	Total I	EGP: 130.20		SGPA:	8.68		Grade: A+		Gra	nd Total: 4	59/600	Percen	tage: 76.50	

Name: KASUNDRA DRASHTI RATILAL BHAVANA

Seat No: 070014

Center: 014

PRN: 2018016100106432

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Min/ Max   Obt   Min/ Max   Obt   Obt   Max   Obt   Max   Obt   Max   Obt   Max   Obt   Max   Obt   Max   Obt   Obt	Course Code	Course Name	AM	IN	T	EX	<b>T</b>	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
Geriatrics(TH)  7001  Geriatrics(TH)  7002  Physiotherapy in Women's Health and PV 20/40 34 30/60 48 100 82 82/100 3 O 9.20 27.60  Geriatrics (PR)					Obt		Obt	Max	Obt		(100)					
Geriatrics (PR)	7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	46	100	80		80/100	2	О	9.00	18.00	c
	7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	34	30/60	48	100	82		82/100	3	О	9.20	27.60	c
Physiotherapy in Medical and Surgical TH 20/40 35 30/60 48 100 83 83/100 2 O 9.30 18.60 Conditions (TH)	7003		TH	20/40	35	30/60	48	100	83		83/100	2	О	9.30	18.60	c
Physiotherapy in Medical and Surgical PV 20/40 34 30/60 43 100 77 77/100 3 A+ 8.70 26.10 Conditions (PR)	7004		PV	20/40	34	30/60	43	100	77		77/100	3	A+	8.70	26.10	c
7005 Sports Physiotherapy (TH) TH 20/40 36 30/60 42 100 78 78/100 2 A+ 8.80 17.60	7005	Sports Physiotherapy (TH)	TH	20/40	36	30/60	42	100	78		78/100	2	A+	8.80	17.60	c
7006 Sports Physiotherapy (PR) PV 20/40 34 30/60 53 100 87 87/100 3 O 9.70 29.10	7006	Sports Physiotherapy (PR)	PV	20/40	34	30/60	53	100	87		87/100	3	O	9.70	29.10	c
Sem VII Total Credits: 15 Total EGP: 137.00 SGPA: 9.13 Grade: O Grand Total: 487/600 Percentage: 81.17	Sem VII	Total Credits: 15	Total I	EGP: 137.00	)	SGPA:	9.13		Grade: O	)	Gra	nd Total: 4	87/600	Percen	tage: 81.17	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: KEVADIYA KHUSHI PRADIPBHAI PARULBEN

Seat No: 070015

Center: 014

PRN: 2018016100106447

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	33	30/60	50	100	83		83/100	2	О	9.30	18.60	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	34	30/60	52	100	86		86/100	3	О	9.60	28.80	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	34	30/60	48	100	82		82/100	2	О	9.20	18.40	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	33	30/60	47	100	80		80/100	3	О	9.00	27.00	c
7005	Sports Physiotherapy (TH)	TH	20/40	35	30/60	46	100	81		81/100	2	O	9.10	18.20	c
7006	Sports Physiotherapy (PR)	PV	20/40	35	30/60	52	100	87		87/100	3	O	9.70	29.10	c
Sem VII	<b>Total Credits: 15</b>	Total I	EGP: 140.10	)	SGPA:	9.34		Grade: O	)	Gra	nd Total: 4	99/600	Percen	ntage: 83.17	

Name : KEVADIYA POOJA GHANSHYAMBHAI VARSHABEN

Seat No: 070016

Center: 014

PRN: 2018016100106455

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Min/ Max   Obt   Min/ Max   Obt   Max   Obt   Max   Obt	ourse Code	Course Name	AM	IN	T	ЕХ	КТ	Tot	tal	Grace	Total (100)	Cr	Gr	GP	EGP	App
Geriatrics(TH)  7001  Geriatrics(TH)  7002  Physiotherapy in Women's Health and PV 20/40 33 30/60 54 100 87 87/100 3 O 9.70 29.10					Obt		Obt	Max	Obt		(100)					
	7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	33	30/60	44	100	77		77/100	2	A+	8.70	17.40	c
	7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	33	30/60	54	100	87		87/100	3	О	9.70	29.10	c
Physiotherapy in Medical and Surgical TH 20/40 35 30/60 46 100 81 81/100 2 O 9.10 18.20 Conditions (TH)	7003		TH	20/40	35	30/60	46	100	81		81/100	2	О	9.10	18.20	c
Physiotherapy in Medical and Surgical PV 20/40 34 30/60 44 100 78 78/100 3 A+ 8.80 26.40 Conditions (PR)	7004		PV	20/40	34	30/60	44	100	78		78/100	3	A+	8.80	26.40	c
7005 Sports Physiotherapy (TH) TH 20/40 33 30/60 44 100 77 77/100 2 A+ 8.70 17.40	7005	Sports Physiotherapy (TH)	TH	20/40	33	30/60	44	100	77		77/100	2	A+	8.70	17.40	c
7006 Sports Physiotherapy (PR) PV 20/40 36 30/60 51 100 87 87/100 3 O 9.70 29.10	7006	Sports Physiotherapy (PR)	PV	20/40	36	30/60	51	100	87		87/100	3	O	9.70	29.10	c
Sem VII Total Credits: 15 Total EGP: 137.60 SGPA: 9.17 Grade: O Grand Total: 487/600 Percentage: 81.17	ı VII	Total Credits: 15	Total I	EGP: 137.60	)	SGPA:	9.17		Grade: O	•	Gra	nd Total: 4	87/600	Percen	tage: 81.17	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: KHALASI JHANVI NILESH RASHMIBEN

Seat No: 070017

Center: 014

PRN: 2018016100106463

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	32	30/60	48	100	80		80/100	2	О	9.00	18.00	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	31	30/60	46	100	77		77/100	3	A+	8.70	26.10	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	29	30/60	50	100	79		79/100	2	A+	8.90	17.80	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	45	100	77		77/100	3	A+	8.70	26.10	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	46	100	80		80/100	2	O	9.00	18.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	32	30/60	49	100	81		81/100	3	O	9.10	27.30	c
Sem VII	Total Credits: 15	Total I	EGP: 133.30	•	SGPA:	8.89		Grade: A	+	Gra	nd Total: 4	74/600	Percen	tage: 79.00	

Name: KHAN SUMMAIYA MOHAMMAD YUNUS RUKHSANA

Seat No: 070018

Center: 014

PRN: 2018016100106471

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	Т	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	48	100	82		82/100	2	O	9.20	18.40	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	34	30/60	46	100	80		80/100	3	O	9.00	27.00	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	32	30/60	50	100	82		82/100	2	О	9.20	18.40	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	33	30/60	43	100	76		76/100	3	A+	8.60	25.80	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	48	100	82		82/100	2	O	9.20	18.40	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	49	100	80		80/100	3	O	9.00	27.00	c
Sem VII	Total Credits: 15	Total I	EGP: 135.00		SGPA:	9.00		Grade: O	•	Gra	nd Total: 4	82/600	Percen	tage: 80.33	

PRINCIPAL

DIRECTOR, Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: LAKDAWALA NENCY MANISHKUMAR KAMINI

Seat No: 070019

Center: 014

PRN: 2018016100104344

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	30	30/60	46	100	76		76/100	2	A+	8.60	17.20	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	32	30/60	48	100	80		80/100	3	О	9.00	27.00	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	32	30/60	50	100	82		82/100	2	О	9.20	18.40	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	34	30/60	43	100	77		77/100	3	A+	8.70	26.10	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	50	100	84		84/100	2	O	9.40	18.80	c
7006	Sports Physiotherapy (PR)	PV	20/40	33	30/60	47	100	80		80/100	3	O	9.00	27.00	c
Sem VII	Total Credits: 15	Total I	EGP: 134.50	1	SGPA:	8.97		Grade: A	+	Gra	nd Total: 4	79/600	Percen	tage: 79.83	

Name: MAVANI MAITRY MAHESHBHAI MAMTA

Seat No: 070020

Center: 014

PRN: 2018016100104352

Medium: English

College: 058: Shree Swaminarayan Physiotherapy College, Kadodara, Surat

Course Code	Course Name	AM	IN	Т	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	30	30/60	48	100	78		78/100	2	A+	8.80	17.60	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	32	30/60	44	100	76		76/100	3	A+	8.60	25.80	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	28	30/60	48	100	76		76/100	2	A+	8.60	17.20	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	43	100	75		75/100	3	A+	8.50	25.50	c
7005	Sports Physiotherapy (TH)	TH	20/40	32	30/60	52	100	84		84/100	2	O	9.40	18.80	c
7006	Sports Physiotherapy (PR)	PV	20/40	33	30/60	46	100	79		79/100	3	A+	8.90	26.70	c
Sem VII	Total Credits: 15	Total I	EGP: 131.60		SGPA:	8.77		Grade: A	+	Gra	nd Total: 4	68/600	Percen	tage: 78.00	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: MISTRY RIYA ASHOKBHAI CHETNABEN

Seat No: 070021

Center: 014

PRN: 2018016100104367

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	35	30/60	46	100	81		81/100	2	О	9.10	18.20	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	35	30/60	52	100	87		87/100	3	О	9.70	29.10	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	35	30/60	48	100	83		83/100	2	О	9.30	18.60	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	47	100	79		79/100	3	A+	8.90	26.70	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	46	100	80		80/100	2	O	9.00	18.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	34	30/60	51	100	85		85/100	3	O	9.50	28.50	c
Sem VII	Total Credits: 15	Total I	EGP: 139.10	•	SGPA:	9.27		Grade: O	•	Gra	nd Total: 4	95/600	Percen	tage: 82.50	

Name: NAIK KHUSHI SUNIL SONAL

Seat No: 070022

Center: 014

PRN: 2018016100104375

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	Т	EX	T	Tota	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	30	30/60	48	100	78		78/100	2	<b>A</b> +	8.80	17.60	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	33	30/60	46	100	79		79/100	3	A+	8.90	26.70	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	30	30/60	44	100	74		74/100	2	A+	8.40	16.80	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	48	100	80		80/100	3	O	9.00	27.00	c
7005	Sports Physiotherapy (TH)	TH	20/40	30	30/60	48	100	78		78/100	2	A+	8.80	17.60	c
7006	Sports Physiotherapy (PR)	PV	20/40	34	30/60	47	100	81		81/100	3	O	9.10	27.30	c
Sem VII	<b>Total Credits: 15</b>	Total I	EGP: 133.00		SGPA:	8.87		Grade: A+	-	Gra	nd Total: 4	70/600	Percen	ntage: 78.33	

PRINCIPAL

DIRECTOR, Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: PARIKH ZEEL JIGNESHKUMAR KAMAL

Seat No: 070023

Center: 014

PRN: 2018016100104383

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	44	100	78		78/100	2	A+	8.80	17.60	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	35	30/60	52	100	87		87/100	3	O	9.70	29.10	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	32	30/60	46	100	78		78/100	2	A+	8.80	17.60	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	48	100	80		80/100	3	О	9.00	27.00	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	48	100	82		82/100	2	O	9.20	18.40	c
7006	Sports Physiotherapy (PR)	PV	20/40	34	30/60	49	100	83		83/100	3	O	9.30	27.90	c
Sem VII	<b>Total Credits: 15</b>	Total I	EGP: 137.60	)	SGPA:	9.17		Grade: O	)	Gra	nd Total: 4	88/600	Percen	ntage: 81.33	

Name: PARMAR RUTVI MIRANJSINH JAGRUTI

Seat No: 070024

Center: 014

PRN: 2018016100104391

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	32	30/60	44	100	76		76/100	2	A+	8.60	17.20	с
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	31	30/60	45	100	76		76/100	3	A+	8.60	25.80	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	31	30/60	50	100	81		81/100	2	О	9.10	18.20	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	33	30/60	41	100	74		74/100	3	A+	8.40	25.20	c
7005	Sports Physiotherapy (TH)	TH	20/40	30	30/60	46	100	76		76/100	2	A+	8.60	17.20	c
7006	Sports Physiotherapy (PR)	PV	20/40	32	30/60	45	100	77		77/100	3	A+	8.70	26.10	c
Sem VII	Total Credits: 15	Total I	EGP: 129.70	)	SGPA:	8.65		Grade: A	+	Gra	nd Total: 4	60/600	Percen	tage: 76.67	

PRINCIPAL

DIRECTOR, Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: PATEL AARTIKUMARI NATVARBHAI MAINDRABEN

Seat No: 070025 Center: 014

PRN: 2018016100104402

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	KT	Tota	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	31	30/60	48	100	79		79/100	2	A+	8.90	17.80	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	30	30/60	44	100	74		74/100	3	A+	8.40	25.20	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	32	30/60	50	100	82		82/100	2	O	9.20	18.40	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	44	100	76		76/100	3	A+	8.60	25.80	c
7005	Sports Physiotherapy (TH)	TH	20/40	35	30/60	46	100	81		81/100	2	O	9.10	18.20	c
7006	Sports Physiotherapy (PR)	PV	20/40	30	30/60	44	100	74		74/100	3	A+	8.40	25.20	c
Sem VII	<b>Total Credits: 15</b>	Total I	EGP: 130.60	1	SGPA:	8.71		Grade: A+		Gra	nd Total: 4	66/600	Percen	ntage: 77.67	

Name: PATEL KAMINI SHARADBHAI JYOTIBEN

Seat No: 070026

Center: 014

PRN: 2018016100104417

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	50	100	84		84/100	2	О	9.40	18.80	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	30	30/60	48	100	78		78/100	3	A+	8.80	26.40	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	31	30/60	48	100	79		79/100	2	A+	8.90	17.80	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	46	100	78		78/100	3	A+	8.80	26.40	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	42	100	76		76/100	2	A+	8.60	17.20	c
7006	Sports Physiotherapy (PR)	PV	20/40	32	30/60	41	100	73		73/100	3	A+	8.30	24.90	c
Sem VII	Total Credits: 15	Total I	EGP: 131.50	1	SGPA:	8.77		Grade: A	+	Gra	nd Total: 4	68/600	Percen	tage: 78.00	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: PATEL NISTHABEN BHUPENDRABHAI SONALBEN

Seat No: 070027

Center: 014

PRN: 2018016100104425

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tota	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	30	30/60	46	100	76		76/100	2	A+	8.60	17.20	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	30	30/60	42	100	72		72/100	3	A+	8.20	24.60	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	29	30/60	54	100	83		83/100	2	O	9.30	18.60	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	30	30/60	41	100	71		71/100	3	A+	8.10	24.30	c
7005	Sports Physiotherapy (TH)	TH	20/40	32	30/60	46	100	78		78/100	2	A+	8.80	17.60	c
7006	Sports Physiotherapy (PR)	PV	20/40	29	30/60	39	100	68		68/100	3	A	7.80	23.40	c
Sem VII	Total Credits: 15	Total F	EGP: 125.70		SGPA:	8.38		Grade: A+		Gra	nd Total: 4	48/600	Percen	ntage: 74.67	

Name: PATEL PANKTI ANILKUMAR MUNNIBEN

Seat No: 070028

Center: 014

PRN: 2018016100104433

Medium : English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	<b>T</b>	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	46	100	80		80/100	2	О	9.00	18.00	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	30	30/60	41	100	71		71/100	3	A+	8.10	24.30	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	32	30/60	50	100	82		82/100	2	О	9.20	18.40	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	32	30/60	43	100	75		75/100	3	A+	8.50	25.50	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	46	100	80		80/100	2	O	9.00	18.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	42	100	73		73/100	3	A+	8.30	24.90	c
Sem VII	Total Credits: 15	Total I	EGP: 129.10	)	SGPA:	8.61		Grade: A	+	Gra	nd Total: 4	61/600	Percer	ntage: 76.83	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: PATEL SEJAL RAJESHKUMAR SANGITA

Seat No: 070029

Center: 014

PRN: 2018016100104441

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tota	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	46	100	80		80/100	2	O	9.00	18.00	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	31	30/60	47	100	78		78/100	3	A+	8.80	26.40	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	31	30/60	44	100	75		75/100	2	A+	8.50	17.00	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	34	30/60	44	100	78		78/100	3	A+	8.80	26.40	c
7005	Sports Physiotherapy (TH)	TH	20/40	32	30/60	44	100	76		76/100	2	A+	8.60	17.20	c
7006	Sports Physiotherapy (PR)	PV	20/40	33	30/60	47	100	80		80/100	3	O	9.00	27.00	c
Sem VII	Total Credits: 15	Total I	EGP: 132.00		SGPA:	8.80		Grade: A+		Gra	nd Total: 4	67/600	Percen	tage: 77.83	

Name: PATEL SRUSHTI NARESHBHAI ANJUBEN

Seat No: 070030

Center: 014

PRN: 2018016100104456

Medium : English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	48	100	82		82/100	2	О	9.20	18.40	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	34	30/60	52	100	86		86/100	3	О	9.60	28.80	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	34	30/60	48	100	82		82/100	2	О	9.20	18.40	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	35	30/60	51	100	86		86/100	3	О	9.60	28.80	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	46	100	80		80/100	2	O	9.00	18.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	34	30/60	50	100	84		84/100	3	O	9.40	28.20	c
Sem VII	Total Credits: 15	Total I	EGP: 140.60	)	SGPA:	9.37		Grade: O	•	Gra	nd Total: 5	00/600	Percen	tage: 83.33	

PRINCIPAL

DIRECTOR, Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: PATEL TINKAL MAHESHKUMAR ASHABEN

Seat No: 070031

Center: 014

PRN: 2018016100104464

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	30	30/60	54	100	84		84/100	2	О	9.40	18.80	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	29	30/60	43	100	72		72/100	3	A+	8.20	24.60	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	31	30/60	48	100	79		79/100	2	A+	8.90	17.80	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	31	30/60	43	100	74		74/100	3	A+	8.40	25.20	c
7005	Sports Physiotherapy (TH)	TH	20/40	30	30/60	46	100	76		76/100	2	A+	8.60	17.20	c
7006	Sports Physiotherapy (PR)	PV	20/40	30	30/60	47	100	77		77/100	3	A+	8.70	26.10	c
Sem VII	Total Credits: 15	Total I	EGP: 129.70	)	SGPA:	8.65		Grade: A	+	Gra	nd Total: 4	62/600	Percen	ntage: 77.00	

Name: PATEL TWINKLE VINOD POOJA

Seat No: 070032

Center: 014

PRN: 2018016100104472

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	Т	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	46	100	80		80/100	2	О	9.00	18.00	с
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	34	30/60	53	100	87		87/100	3	O	9.70	29.10	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	34	30/60	48	100	82		82/100	2	О	9.20	18.40	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	33	30/60	51	100	84		84/100	3	O	9.40	28.20	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	46	100	80		80/100	2	O	9.00	18.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	33	30/60	51	100	84		84/100	3	O	9.40	28.20	c
Sem VII	<b>Total Credits: 15</b>	Total I	EGP: 139.90		SGPA:	9.33		Grade: O		Gra	nd Total: 4	97/600	Percen	tage: 82.83	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: PATEL URVI PARESHKUMAR SIMA

Seat No: 070033

Center: 014

PRN: 2018016100104487

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	31	30/60	40	100	71		71/100	2	A+	8.10	16.20	С
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	31	30/60	44	100	75		75/100	3	A+	8.50	25.50	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	33	30/60	42	100	75		75/100	2	A+	8.50	17.00	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	34	30/60	44	100	78		78/100	3	A+	8.80	26.40	c
7005	Sports Physiotherapy (TH)	TH	20/40	33	30/60	40	100	73		73/100	2	A+	8.30	16.60	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	48	100	79		79/100	3	A+	8.90	26.70	c
Sem VII	Total Credits: 15	Total I	EGP: 128.40	1	SGPA:	8.56		Grade: A	+	Gra	nd Total: 4	51/600	Percen	ntage: 75.17	

Name: PATIL BHUMIKA SHARAD SUNANDA

Seat No: 070034

Center: 014

PRN: 2018016100104495

Medium : English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	Т	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	33	30/60	46	100	79		79/100	2	A+	8.90	17.80	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	34	30/60	47	100	81		81/100	3	O	9.10	27.30	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	34	30/60	50	100	84		84/100	2	О	9.40	18.80	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	30	30/60	44	100	74		74/100	3	A+	8.40	25.20	c
7005	Sports Physiotherapy (TH)	TH	20/40	33	30/60	48	100	81		81/100	2	O	9.10	18.20	c
7006	Sports Physiotherapy (PR)	PV	20/40	32	30/60	48	100	80		80/100	3	O	9.00	27.00	c
Sem VII	Total Credits: 15	Total I	EGP: 134.30		SGPA:	8.95		Grade: A	+	Gra	nd Total: 4	79/600	Percen	tage: 79.83	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: PRASAD MAYURI SHREERAM POONAM

Seat No: 070035

Center: 014

PRN: 2018016100104506

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	36	30/60	48	100	84		84/100	2	О	9.40	18.80	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	34	30/60	51	100	85		85/100	3	О	9.50	28.50	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	32	30/60	48	100	80		80/100	2	О	9.00	18.00	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	35	30/60	49	100	84		84/100	3	О	9.40	28.20	c
7005	Sports Physiotherapy (TH)	TH	20/40	36	30/60	54	100	90		90/100	2	O+	10.00	20.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	35	30/60	53	100	88		88/100	3	O	9.80	29.40	c
Sem VII	<b>Total Credits: 15</b>	Total I	EGP: 142.90	•	SGPA:	9.53		Grade: O	•	Gra	nd Total: 5	11/600	Percen	tage: 85.17	

Name: RAMANI BANSI VINODBHAI KANCHANBEN

Seat No: 070036

Center: 014

PRN: 2018016100104514

Medium : English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	29	30/60	40	100	69		69/100	2	A	7.90	15.80	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	29	30/60	39	100	68		68/100	3	A	7.80	23.40	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	29	30/60	46	100	75		75/100	2	A+	8.50	17.00	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	31	30/60	40	100	71		71/100	3	A+	8.10	24.30	c
7005	Sports Physiotherapy (TH)	TH	20/40	31	30/60	44	100	75		75/100	2	A+	8.50	17.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	30	30/60	39	100	69		69/100	3	A	7.90	23.70	c
Sem VII	<b>Total Credits: 15</b>	Total F	EGP: 121.20		SGPA:	8.08		Grade: A+	-	Gra	nd Total: 4	27/600	Percen	tage: 71.17	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: RATHOD BHAVIKA HARISH VANITA

Seat No: 070037

Center: 014

PRN: 2018016100104522

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	ľΤ	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	33	30/60	48	100	81		81/100	2	О	9.10	18.20	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	33	30/60	46	100	79		79/100	3	A+	8.90	26.70	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	29	30/60	50	100	79		79/100	2	A+	8.90	17.80	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	33	30/60	47	100	80		80/100	3	О	9.00	27.00	c
7005	Sports Physiotherapy (TH)	TH	20/40	32	30/60	52	100	84		84/100	2	O	9.40	18.80	c
7006	Sports Physiotherapy (PR)	PV	20/40	33	30/60	46	100	79		79/100	3	A+	8.90	26.70	c
Sem VII	Total Credits: 15	Total l	EGP: 135.20	)	SGPA:	9.01		Grade: O	)	Gra	nd Total: 4	82/600	Percen	ntage: 80.33	

Name: RATHOD SHIVANI MILANSINH BHARTIBEN

Seat No: 070038

Center: 014

PRN: 2018016100104537

Medium: English

College: 058: Shree Swaminarayan Physiotherapy College, Kadodara, Surat

Course Code	Course Name	AM	IN	Т	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	31	30/60	46	100	77		77/100	2	A+	8.70	17.40	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	32	30/60	45	100	77		77/100	3	A+	8.70	26.10	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	28	30/60	42	100	70		70/100	2	A+	8.00	16.00	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	31	30/60	46	100	77		77/100	3	A+	8.70	26.10	c
7005	Sports Physiotherapy (TH)	TH	20/40	32	30/60	46	100	78		78/100	2	A+	8.80	17.60	c
7006	Sports Physiotherapy (PR)	PV	20/40	33	30/60	46	100	79		79/100	3	A+	8.90	26.70	c
Sem VII	Total Credits: 15	Total I	EGP: 129.90		SGPA:	8.66		Grade: A	+	Gra	nd Total: 4	58/600	Percen	tage: 76.33	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: SAWANT AAKANKSHA NANDKUMAR NEHAL

Seat No: 070039

Center: 014

PRN: 2018016100104545

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	52	100	86		86/100	2	О	9.60	19.20	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	32	30/60	43	100	75		75/100	3	A+	8.50	25.50	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	34	30/60	50	100	84		84/100	2	О	9.40	18.80	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	34	30/60	44	100	78		78/100	3	A+	8.80	26.40	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	50	100	84		84/100	2	O	9.40	18.80	c
7006	Sports Physiotherapy (PR)	PV	20/40	33	30/60	49	100	82		82/100	3	O	9.20	27.60	c
Sem VII	<b>Total Credits: 15</b>	Total l	EGP: 136.30	)	SGPA:	9.09		Grade: O	)	Gra	nd Total: 4	89/600	Percen	ntage: 81.50	

Name: SHAH DHWANI MAYUR JOLLY

Seat No: 070040

Center: 014

PRN: 2018016100104553

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

	Min/ Max	Obt											
			Min/ Max	Obt	Max	Obt		(100)					
Physiotherapy in Women's Health and TH Geriatrics(TH)	20/40	33	30/60	42	100	75		75/100	2	A+	8.50	17.00	c
Physiotherapy in Women's Health and PV Geriatrics (PR)	20/40	33	30/60	46	100	79		79/100	3	A+	8.90	26.70	c
Physiotherapy in Medical and Surgical TH Conditions (TH)	20/40	29	30/60	48	100	77		77/100	2	A+	8.70	17.40	c
Physiotherapy in Medical and Surgical PV Conditions (PR)	20/40	34	30/60	48	100	82		82/100	3	О	9.20	27.60	c
7005 Sports Physiotherapy (TH) TH	20/40	33	30/60	46	100	79		79/100	2	A+	8.90	17.80	c
7006 Sports Physiotherapy (PR) PV	20/40	33	30/60	48	100	81		81/100	3	O	9.10	27.30	c
Sem VII Total Credits: 15 Total EG	GP: 133.80		SGPA:	8.92		Grade: A-	+	Gran	d Total: 47	73/600	Percen	tage: 78.83	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: SHAH DRASHTIBEN SANDIPBHAI DARSHANABEN

Seat No: 070041

Center: 014

PRN: 2018016100104561

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	Т	EX	KT	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	33	30/60	46	100	79		79/100	2	A+	8.90	17.80	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	31	30/60	44	100	75		75/100	3	A+	8.50	25.50	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	32	30/60	46	100	78		78/100	2	A+	8.80	17.60	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	31	30/60	45	100	76		76/100	3	A+	8.60	25.80	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	46	100	80		80/100	2	O	9.00	18.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	45	100	76		76/100	3	A+	8.60	25.80	c
Sem VII	Total Credits: 15	Total I	EGP: 130.50		SGPA:	8.70		Grade: A	+	Gra	and Total: 4	64/600	Percei	ntage: 77.33	

Name: SONGIRE DISHA SANDEEP ALPA

Seat No: 070042

Center: 014

PRN: 2018016100104576

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	31	30/60	48	100	79		79/100	2	A+	8.90	17.80	С
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	31	30/60	41	100	72		72/100	3	A+	8.20	24.60	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	31	30/60	52	100	83		83/100	2	O	9.30	18.60	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	33	30/60	45	100	78		78/100	3	A+	8.80	26.40	c
7005	Sports Physiotherapy (TH)	TH	20/40	32	30/60	50	100	82		82/100	2	O	9.20	18.40	c
7006	Sports Physiotherapy (PR)	PV	20/40	31	30/60	46	100	77		77/100	3	A+	8.70	26.10	c
Sem VII	Total Credits: 15	Total I	EGP: 131.90	1	SGPA:	8.79		Grade: A	+	Gra	nd Total: 4	71/600	Percen	ntage: 78.50	

PRINCIPAL

DIRECTOR, Board of Examination and Evaluation

# Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date:17 Feb 2022

Name: VAGHASIYA NEHA ASHOKBHAI SHOBHNABEN

Seat No: 070043

Center: 014

PRN: 2018016100104584

**Medium: English** 

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	T	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	32	30/60	50	100	82		82/100	2	О	9.20	18.40	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	31	30/60	43	100	74		74/100	3	A+	8.40	25.20	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	27	30/60	46	100	73		73/100	2	A+	8.30	16.60	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	30	30/60	42	100	72		72/100	3	A+	8.20	24.60	c
7005	Sports Physiotherapy (TH)	TH	20/40	32	30/60	50	100	82		82/100	2	O	9.20	18.40	c
7006	Sports Physiotherapy (PR)	PV	20/40	30	30/60	43	100	73		73/100	3	A+	8.30	24.90	c
Sem VII	<b>Total Credits: 15</b>	Total l	EGP: 128.10	)	SGPA:	8.54		Grade: A	+	Gra	nd Total: 4	56/600	Percen	tage: 76.00	

Name: VASHI NIRMI PARESHKUMAR AMITABEN

Seat No: 070044

Center: 014

PRN: 2018016100104592

Medium: English

 ${\bf College: 058: Shree\ Swaminarayan\ Physiotherapy\ College,\ Kadodara,\ Surat}$ 

Course Code	Course Name	AM	IN	T	EX	<b>T</b>	Tot	al	Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	35	30/60	48	100	83		83/100	2	О	9.30	18.60	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	36	30/60	54	100	90		90/100	3	O+	10.00	30.00	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	34	30/60	48	100	82		82/100	2	О	9.20	18.40	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	35	30/60	47	100	82		82/100	3	О	9.20	27.60	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	46	100	80		80/100	2	O	9.00	18.00	c
7006	Sports Physiotherapy (PR)	PV	20/40	34	30/60	52	100	86		86/100	3	O	9.60	28.80	c
Sem VII	<b>Total Credits: 15</b>	Total I	EGP: 141.40		SGPA:	9.43		Grade: O	•	Gra	nd Total: 5	603/600	Percen	tage: 83.83	

PRINCIPAL

DIRECTOR,
Board of Examination and Evaluation

Bachelor of Physiotherapy - Semester VII (Regular - 2014 Pattern) Examination:January 2022

Result Date :17 Feb 2022

Name : ZADAFIYA KRISHNA HARESHBHAI ANSUYABEN

Seat No: 070045

Center: 014

PRN: 2018016100104603

Medium: English

College: 058: Shree Swaminarayan Physiotherapy College, Kadodara, Surat

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/ Max	Obt	Min/ Max	Obt	Max	Obt		(100)					
7001	Physiotherapy in Women's Health and Geriatrics(TH)	TH	20/40	34	30/60	48	100	82		82/100	2	О	9.20	18.40	c
7002	Physiotherapy in Women's Health and Geriatrics (PR)	PV	20/40	33	30/60	50	100	83		83/100	3	О	9.30	27.90	c
7003	Physiotherapy in Medical and Surgical Conditions (TH)	TH	20/40	34	30/60	56	100	90		90/100	2	O+	10.00	20.00	c
7004	Physiotherapy in Medical and Surgical Conditions (PR)	PV	20/40	34	30/60	45	100	79		79/100	3	A+	8.90	26.70	c
7005	Sports Physiotherapy (TH)	TH	20/40	34	30/60	50	100	84		84/100	2	O	9.40	18.80	c
7006	Sports Physiotherapy (PR)	PV	20/40	36	30/60	49	100	85		85/100	3	O	9.50	28.50	c
Sem VII	<b>Total Credits: 15</b>	Total I	EGP: 140.30		SGPA: 9.35		Grade: O			Grand Total: 503/600			Percentage: 83.83		

PRINCIPAL

DIRECTOR, Board of Examination and Evaluation